
 
SAMPLE PAPER 
TERM-I (2025-26) 

CLASS-IV (MATHEMATICS) 
TIME: 2 Hours​ ​ ​ ​ ​ ​ ​ ​ M. M. :- 50 
General Instructions:  

1.​ Attempt all questions. 
2.​ Read each question carefully and answer the following questions. 
3.​ All the questions must be correctly numbered as shown in the 

question paper and should be written in the answer sheet provided 
by you. 

4.​ The total number of pages is four. 
5.​ Section A:(Q1 - Q15) has 15 Very very short answer type questions 

carrying 1 mark each. 
6.​ Section B:(Q16 - Q25) has 10 Very short answer type questions 

carrying 2 marks each. 
7.​ Section C:(Q26 - Q30) has 5 Long answer type questions carrying 3 

marks each. 
 

Section-A 
Tick the correct option                                                 ​            (1 x 15 = 15) 
1. The Standard form of:  
       6,00,000 + 60,000 + 600 + 6 is: 
(A)     6,66,666 (B)     6,06,666 (C)    6,60,606 (D) 6,66,060 

2.  One thousand more than the predecessor of 500 is: 
(A)     1,500 (B)     1,499 (C)    500 (D) 499 

3.    12 x 6,000 is: 
(A)    72,000 (B)     7,200 (C)     720 (D) 70,200 

4. Most appropriate unit used to measure the length of a building is:  
(A)     Km (B)     m (C)    mm (D) cm 

5. A dozen has 12 units. The number of dozens in 6012 units is:    
(A)     501 (B)     51 (C)    510 (D)  601 

 
 Fill in the blanks with correct answer:​ ​ ​ ​            
6.    __________ thousands= 9 ten thousands 
7.    Dividend = Divisor x _____________ + Remainder. 
8.    27,000 – 7,000 – 700 = _____________. 
9.    The perimeter for the given shape is _____________. 
10.  If 3,200 x 14 = 44,800  
          then 3,200 x 15 = ____________. 
 
 
 
 



 
 
State true or false. If false, rewrite the correct statement.  
11. To convert cm into m we always multiply by 100. 
12. The sum of the largest 4-digit number and 1000 is 1,999. 
13. The answer of multiplication is called difference.  
14. 118 divided by 0 is equal to 118. 
15. Observe the given picture carefully. 

 
Riya visited a rectangular field of length 22cm, breadth 18m, and diagonal 5m. 
The perimeter of the field is . 

(A)​ 396 m            (B) 80 m                 (C) 25 m                 (D) 45 m 
                                      

       Section-B                                     (10 x 2 = 20)                 
 
16. Look at the number shown on abacus and write the number name of its 

successor. 

 
17. The product of two numbers is 9,675. If one of them is 15 then find the 

other number. 
OR 

       The cost of 24 toys is ₹ 11,424. What is the cost of one toy? 
 
18. Arrange in columns and add the following. 
         39 m 58 cm     and        41 m 71 cm  

19. Raju runs twice around a square playground of length 70 m. How much 
distance does he cover? 

OR 
The length of three sides of a triangle are 4cm, 6 cm and 8 cm. Find the 

perimeter of the triangle. 

 

 



 

20. Write the period and place value of the underlined digit in the given 
numeral.  

 

 

 
 
21. Form the Smallest and the greatest 6-digit numeral using the digits: 1, 9, 6, 

0, 7 and 5 only once. 
22. Divide and write quotient and remainder. 
        16703 ÷ 21 
23. What should be added to 12,313 to get 50,000 ? 
24. Find the product of the largest 4-digit number and the smallest 3-digit 

number. 
25. Subtract 56,600 from 90,000. 
                            
                                                  Section-C                                   (5 x 3 = 15) 
26.  Subtract and check your answer- 
              85,305  -  17,489 
27.   Mr. Sameer has a rectangular farmhouse whose length is 30 metres and 

breadth is 20 metres. If the cost of fencing the farmhouse is ₹ 40 per 
metre, find the amount he has to spend on fencing the farmhouse. 

                                                
                                                    OR 

Manisha  walked around a rectangular field whose length is 40 m and 
breadth is 25 m . Charu walked around a square playground whose one 
side is 50 metres. Who walked more distance and by how much? 

 28.  Riya and Aman are decorating their classroom for a school event. Riya 
brings a red ribbon that is 2 metre 45 centimetres long.​
Aman brings a blue ribbon that is 1 m 75 centimetres long. 

    

 

NUMERAL  PERIOD PLACE VALUE 

6,70,231     



 

They both think their ribbon is longer, so they decided to measure and 
compare. Who has the longer ribbon and by how much? 

29. A toy factory makes 132 toys every day.  How many toys will it make in 20 
weeks ?  

                                         

30. A big truck brought 1369 books to Green Valley School. These books are to 
be arranged on shelves. Each shelf can hold 24 books. 

                                           

Answer the following questions 

(A)​ How many shelves will be completely filled with books?  
(B)​ How many books will be left without the shelf? 


